/ Geometry Unit 8: Right Triangle Trig Review
Name: KLL,\ Date:
v
HCAHTOA: B
“1) a) Find the 3 ’m? ratios from Angleg and Angle B. 5
SnA=1% wsA=2L-  +ton H=-—§-
.. e = 12 tanB= &
SnB= {5 CosBaiF tands g 15| \I7
a) How do the ratios compare for the two angles?
sin i =CosB —
s = GinB reaprmogwchoﬁw c— 8 A

2) Draw ACAT where ZATC = 90°, CA =53, and CT = 28.

Qfa b= 53*

a) What s the length of AT2 45 ¢ 1
b) Whatis sin C? ';-5‘ 20 ’ 784 nild 3809
5 'A% J b :'\/:2035
c) Whatis tan A2 3Y
w b= 46
| T 45 @
Draw AABC where £B = 90° and sinA—1—2— 2
Q; raw where £B = =20 |,2‘1 l’bzf‘— 20
a) Whatis the length ofAB; 1 A 14y } %= 400
b) Whatis tan A2 ;(’ Y 20 \} b"=ﬁ5(r
c) Whatiscos A2 b _ 4 o b=l
T
, 0 T S A
4) Solve for the missing side or angle using Trig §ofios {sin, cos, tan). bO'LDO _qo A
a) b)
F_mnh

Scanned with CamScanner



Geometry Unit 8: Right Triangle Trig Review

d) e) f)
A

B .
C hsr @

o £
5 7.7 14,
0
J A
\ 10.8

o i B 0.
v il B f= 1o Un 57+ F
= {33 in57= 10-8
X= B~ tan %0-1 0= dan” (7] ikl

/0.8 §
= 0 -
0] o-47°] X" Gn 112.7
5) An 8 foot ladder is leaning against a wall so that the base is 5 feet from the base of the wall. What angle

does the ladder make with the ground2 Round to the nearest tenth.
\

- cuf-l
. s X %

1 x=cs” (%)

5 e

6) A surveyor is standing 25 feet from a building and is looking at the top with an angle of elevation of é5°, How
tall is the building? Round to the nearest tenth.

oA ton B=X%

oo l a9
A

F) g X i 96 d
¢ 7 |

i 75 0

7) A kite is being ﬂo% using 150 yards of string. The kite has an angle of elevation with the ground of 45
degrees. How high above the ground is the kite?

0

Al

Sin 2= t.
T 150
X = )50'6“‘) &)5

[ 786 g Jogi |

8) In the triangle, BC = 12 cm and tan <C=0.75. What is the length of the hypotenuse?

){d.h\ "fo-h\ 3.7 = Ia

% -).76 i #k =8

A h CE‘" 97° | X !Iﬂpoknwe :15’
X -cos 3712 i

o |2 C Xx=12
3 coy 37 15
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Review

Geometry Unit 8: Right Triangle Trig
9. Find all missing sides using special right triangle patterns:
b. C.

d Qﬁ e
b.
]
N ‘i%
x= 22 AR a 4:x1%
ool
a-d 60° Y=X/3
4 & B
b
e 1% ¥2403 -4 3 i3
“[0. If sin 47 °= .73, what is the cosine of 43°%¢ . 3 @-ﬁ 3
“11.1f cos 82° = .14, what is the sineof 8°2 v lL’
N [9%0
12. Find the value of e for which sin @ = cos 22°. S\ n

s 49

13. Find the value of & for which cos © = sin 41°.
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